























Organic Soy Sauce

Made from organic whole soybeans and organic rice, fermented according to ancient Japanese methods, resulting in authentic original Japanese soy sauce that is aromatic, delicious, and free from various chemicals.

Ingredients:

Water, Organic Soybean, Organic Rice, Salt



Organic Rice Vinegar

Produced from organic rice, fermented naturally to create a fragrant, tender, non-gritty rice vinegar with a delicious flavor and free from chemicals.

Ingredients:

Water, Organic Rice



Organic Tamari Soy Sauce

Made from organic whole soybeans and organic rice, fermented according to ancient Japanese methods for at least 4-6 months, resulting in authentic original Japanese soy sauce with a rich and intense flavor, aromatic, delicious, and free from various chemicals.

Ingredients:

Water, Organic Soybean, Organic Rice, Salt



Organic Chinese Soy Sauce

Produced from organic Japanese soy sauce obtained through the traditional Japanese fermentation process, it is further enhanced with specially selected organic ingredients to create a unique flavor.

Ingredients:

Water, Organic Soybean, Organic Rice, Organic Brown Sugar, Salt





Organic Black Rice Vinegar

Produced from organic rice, naturally fermented to obtain rice vinegar with a fragrant and tender aroma. It is then combined with a secret recipe to create a delicious safe and free from chemicals.

Ingredients:

Water, Organic Soybean, Organic Rice, Organic Brown Sugar, Salt



Organic Dark Soy Sauce

Produced from organic Japanese soy sauce obtained through the traditional Japanese fermentation process, it is simmered until it reaches a dark color and then blended with organic seasonings.

Ingredients:

Water, Organic Soybean, Organic Rice, Organic Sugar, Salt



Organic Teriyaki Sauce

Produced from organic Japanese soy sauce obtained through the traditional Japanese fermentation process, it is simmered until it reaches a dark color and then blended with various organic seasonings.

Ingredients:

Water, Organic Soybean, Organic Rice, Salt, Organic Cane Sugar, Organic Ginger



Gluten Free Soy Sauce

Produced from whole soybeans and rice, fermented using traditional Japanese methods, resulting in a delicious-tasting soy sauce with a distinctive aroma. Importantly, it is free from gluten, making it suitable for individuals with gluten allergies.

Ingredients:

Water, Soybean, Rice, Salt





Hoisin Sauce

A delectable condiment crafted from Japanese soybean paste and carefully selected A-grade spices. This exceptional sauce is designed to elevate the flavors of various Chinese dishes, ranging from succulent roasted duck or pork to stir-fried vegetables and barbecued delights. Its unique blend enhances the taste profile of your favorite Chinese dishes.

Ingredients:

Cane Sugar, Water, Spice Extract Water, Soy Sauce, Fermented Soybean Paste, Salt, Distilled Vinegar, Sesame, Garlic



Organic Less Salt Soy Sauce

Made from organic whole soybeans and organic rice, fermented according to ancient Japanese methods, resulting in authentic original Japanese soy sauce with a delicious flavor, aromatic, free from various chemicals, and reduced salt content by at least 45%. Suitable for individuals who want to control their sodium intake.

Ingredients:

Water, Organic Soybean, Organic Rice, Salt, Organic Alcohol



Sweet Soy Sauce

Produced from Japanese soy sauce, seasoned with a special blend of ingredients according to a unique recipe, resulting in a sweet, aromatic, and flavorful soy sauce.

Ingredients:

Brown Sugar, Soy Sauce, Fructose Syrup, Water, Cane Sugar, Maltodextrin, Star Arise





Organic Vegan Mushroom Sauce

Organic Vegan Mushroom Sauce is made from fresh organic shiitake mushrooms and produced by a natural fermentation method, with no color or artificial flavors added. Organic Vegan Mushroom Sauce is used for vegan or vegetarian stir-fry dishes and is suitable for those who are health conscious and don't eat meat.

Ingredients:

Water, Organic Sugar, Organic Soybean, Organic Mushroom Extract, Salt, Organic Rice, Organic Cassava Flour



Fish Sauce Flavored Organic Soy Sauce

Fish Sauce Flavored Organic Soy Sauce is suitable for those who are health conscious and vegetarians. It is produced using natural fermentation method, with no color or artificial flavors added. The umami flavor is provided by adding seaweed.

Ingredients:

Water, Organic Soybean, Salt, Organic Seaweed, Organic Cane Sugar, Organic Rice



Organic Vegan Fish Sauce Gravy

Organic Vegan Fish Sauce Gravy is a plant-based, soy-free alternative made from organic ingredients. It offers a rich umami flavor ideal for stir-fries and soups including dishes like Fried Fish, Fried Chicken, Pad Thai, and Tom Yum. It can also be used to create a vegan seafood dipping sauce.

Ingredients:

Organic Coconut Nectar Syrup, Water, Organic Seaweed, Refined Salt





Organic Pasteurized Miso

Miso, made from the original recipe, is available in both traditional and non-traditional (vegan) versions, providing a rich, flavorful, and aromatic taste in the authentic Japanese style. It can be enjoyed with every meal and is free from chemical additives for safety.

Ingredients:

Organic Soybean, Organic Rice, Salt



Organic Pasteurized Shiro Miso

Made from a special secret recipe combined with organic ingredients, our Organic Pasteurized Shiro Miso delivers a rich, flavorful, and aromatic taste in the authentic Japanese style. Free from chemical additives, it ensures both quality and safety.

Ingredients:

Organic Soybean, Organic Rice, Salt



Organic Pasteurized Miso with Kombu

Experience the authentic essence of traditional Japanese flavors with our meticulously crafted blend of Miso and organic seaweed. Delight in the savory, exquisite, and indulgent taste that is completely devoid of any chemical additives, courtesy of our use of premium organic ingredients.

Ingredients:

Organic Soybean, Organic Rice, Salt, Organic Kombu





Organic Spring Roll Sauce

Organic spring roll dipping sauce, made from organic ingredients, has a delicious taste that follows the authentic style of spring roll dipping sauce.

Ingredients:

Organic Cane Sugar, Organic Rice Vinegar, Organic Carrot, Rock Salt, Organic Cassava Flour, Organic Chilli



Organic Pad Thai Sauce

Organic seasoning sauce for Thai stir-fry, a popular dish in Thailand. It perfectly blends with organic ingredients, making it easier and delicious to prepare Thai stir-fries.

Ingredients:

Organic Tamari Soy Sauce, Organic Sugar, Organic Rice Vinegar, Organic Tomato Paste, Organic Red Onion, Organic Garlic



Organic Sweet Chilli Sauce

Chicken dipping sauce made from organic ingredients enhances the taste of your fried food with a delicious, sour, sweet, and spicy flavor.

Ingredients:

Organic Cane Sugar, Organic Rice Vinegar, Organic Garlic, Rock Salt, Organic Cassava Flour, Organic Chilli



Organic Sweet and Sour Sauce

Sweet and sour stir-fry sauce makes it easier for you to prepare delicious stir-fried dishes.

Ingredients:

Organic Tamari Soy Sauce, Organic Cane Sugar, Organic Rice Vinegar, Organic Tomato, Organic Pine Apple, Organic Cassava Flour, Organic Garlic Powder





Organic Ketjap Manis Sauce

Sweet sauce, a traditional recipe from Indonesia, made from fair-trade organic ingredients. It has a delicious, rich flavor and is aromatic with spices.

Ingredients:

Organic Tamari Soy Sauce, Organic Cane Sugar, Organic Cumin Powder, Organic Clove Powder, Organic Ginger, Organic Star Anise



Organic Thai Vinaigrette Sauce

Intense Thai-style salad dressing, made from organic ingredients, bursting with spicy and aromatic flavors. **Ingredients:**

Organic Tamari Soy Sauce, Organic Cane Sugar, Organic Rice Vinegar, Organic Garlic, Organic Chilli, Organic Cassava Flour



Organic Japanese Vinaigrette Sauce

Intensely flavorful Japanese-style salad dressing, made from organic ingredients. It is aromatic, delicious, beneficial for health, and safe from chemicals.

Ingredients:

Organic Tamari Soy Sauce, Organic Cane Sugar, Organic Rice Vinegar, Organic Garlic, Organic Ginger, Organic Cassava Flour, Organic Roasted Sesame



Organic Sushi Vinegar

Organic Sushi Vinegar for preparing sushi, made from organic jasmine rice, provides a delicious, sweet, and fragrant aroma. It enhances the flavor of your sushi rice.

Ingredients:

Organic Rice Vinegar, Organic Cane Sugar, Water, Rock Salt





Organic Mirin

Made from organic rice and organic sugar, Organic Mirin adds a gentle sweetness and a nice shine to your dishes, enhancing their natural flavors.

Ingredients:

Water, Organic Rice, Organic Cane Sugar, Organic Alcohol



Organic Ponzu Lime

Organic Ponzu Lime is a flavorful organic soy sauce infused with lime, offering a perfect balance of salty, tangy, and sweet. This versatile sauce enhances any dish that calls for a savory touch with a hint of lime.

Ingredients:

Organic Soy Sauce, Water, Organic Sugar, Organic Rice Vinegar, Rock Salt, Organic Kombu Extract, Organic Lime Juice



Organic Soy-Free Teriyaki

Organic Soy-Free Teriyaki is a healthy, soy-free alternative made from organic fermented coconut nectar syrup, offering a perfect balance of sweet and salty flavors. Ideal for marinating, stir-frying, or glazing. Ingredients:

Organic Coconut Nectar Syrup, Organic Brown Sugar, Water, Organic Cassava Flour, Organic Ginger



Organic Coconut Aminos Seasoning Sauce

Organic Coconut Aminos Seasoning Sauce is a tasty soy- and wheat-free alternative made from organic coconut nectar syrup. With its slightly sweet and salty flavor, it's perfect for stir-fries and salad dressings. **Ingredients:**

Water, Organic Coconut Nectar Syrup, Refined Salt, Yeast





Organic Fairtrade Miso Ramen

Organic Fairtrade Miso Ramen combines the rich umami of Organic Miso with the subtle sweetness of Organic Rice Wine. Perfect for ramen, simply mix with hot water. Crafted with certified organic and Fairtrade ingredients, it's free from additives and preservatives—a wholesome choice for health-conscious cooks...

Ingredients:

Organic Rice, Organic Soybean, Water, Refined Salt, Organic Alcohol



Organic Fairtrade Shoyu Ramen

Organic Fairtrade Shoyu Ramen is a naturally fermented soy sauce made from organic ingredients, offering a deep, balanced flavor perfect for a variety of dishes. Ideal for Japanese cuisine, it can be used in stir-fries, soups, salads, and as a dipping sauce for sashimi.

Ingredients:

Water, Organic Soybean, Organic Rice, Refined Salt, Organic Alcohol



Organic Tsuyu Shoyu

Organic Tsuyu Shoyu is a concentrated Japanese stock base, ideal for seasoning simmered dishes, stir-fries, and as a traditional dipping sauce for soba, udon, and tempura. Made from organic shoyu and seaweed, it contains no artificial additives, preservatives, or colorings. **Ingredients:**

Water, Organic Soybean, Organic Salt, Organic Rice, Organic Seaweed, Organic Cane Sugar, Organic Alcohol





Organic Vegan Shrimp Paste

A plant-based alternative to traditional Thai shrimp paste, our Organic Vegan Shrimp Paste is made from high-quality fermented organic soybeans, following an authentic Thai recipe. Ideal for health-conscious, vegan, and vegetarian consumers, it enhances the flavor of Thai chili pastes and traditional soups.

Ingredients:

Organic Soybean, Organic Rice, Organic Sugar, Water, Organic Dark Soy Sauce, Salt



Organic Chilli Paste

Our Organic Chili Paste is made from high-quality fermented organic soybeans and organic dried chilies, creating a perfect balance of spicy and umami flavors. Made with premium organic ingredients, it's ideal for health-conscious and vegetarian consumers. Use it as a dipping paste to enhance a variety of dishes.

Ingredients:

Organic Soybean, Organic Lemongrass, Organic Chilli, Organic Garlic, Organic Shallot, Organic Sugar, Organic Tamarind Paste, Water



Organic Thai Peanut Miso Satay Sauce

Organic Thai Peanut Miso Satay Sauce is a fusion-style organic sauce made with roasted organic peanuts, organic miso, and organic herbs. It offers a rich, nutty flavor, perfect for marinating meats or serving as a dipping sauce for grilled vegetables or veggie rolls.

Ingredients:

Organic Tamari Soy Sauce, Organic Cane Sugar, Organic Pasteurized Miso, Organic Vinegar, Organic Tamarind Paste, Organic Onion, Organic Chilli, Organic Kaffir Lime Leaves, Organic Peanut





Organic Miso Tom Yum

Our Organic Miso Tom Yum combines the flavors of traditional Thai Tom Yum and the rich umami of Japanese fermented miso. This unique fusion offers the perfect combination of spicy, sour, and umami flavors. Ideal for preparing soups, noodles, or as a base for stir-fries.

Ingredients:

Organic Shallot, Organic Lemongrass, Organic Kaffir Lime Leaves, Water, Organic Red Chilli, Organic Pasteurized Miso, Organic Vinegar, Organic Cane Sugar, Organic Tamari Soy Sauce



Organic Sriracha Chilli Sauce

Organic Sriracha Chili Sauce strikes the perfect balance of spicy, sweet, and tangy flavors, made from fresh, chemical-free organic ingredients. This versatile sauce is perfect for any dishes,

Ingredients:

Organic Vinegar, Organic Red Chilli, Organic Cane Sugar, Organic Garlic, Salt, Organic Cassava Flour, Water



Organic Spicy Miso Sriracha Sauce

Organic Spicy Miso Sriracha Sauce combines organic miso with spicy and tangy organic Sriracha chili sauce. This flavorful sauce offers a spicy, tangy, salty, and umami taste, ideal for drizzling over rice or noodles, marinating grilled chicken or pork, or mixing with salad.

Ingredients:

Organic Vinegar, Organic Red Chilli, Organic Pasteurized Miso, Organic Cane Sugar, Organic Garlic, Salt, Organic Cassava Flour, Water





Organic Samyang Sauce

Organic Samyang Sauce is an organic Korean-style spicy sauce. It is intensely spicy but still smooth and flavorful. Perfect for mixing with noodles, adding to spicy soups, or dipping fried food and Korean-style fried rice.

Ingredients:

Water, Organic Cane Sugar, Organic Rice Vinegar 5%, Organic Alcohol, Organic Soybean, Organic Red Onion, Organic Sesame Oil, Refined Salt, Organic Red Pepper Powder, Organic Rice, Organic Cassava Flour, Organic Garlic



Organic Kochujang Sauce

Organic Kochujang is a traditional Korean organic chili paste made from fermented organic rice and high-quality organic Korean chilies. With a sweet and spicy flavor, it's perfect for cooking Bibimbap, Korean soups, marinating meat, or using as a dipping sauce for Korean BBQ or hotpot.

Ingredients:

Water, Organic Cane Sugar, Organic Alcohol, Organic Soybean, Organic Rice, Organic Vinegar 5%, Refined Salt, Organic Sesame Oil, Organic Red Onion, Organic Red Pepper Powder, Organic Cassava Flour, Organic Garlic, Organic Ginger



PACKAGING



200 liters 1000

liters

PACKAGING & LOADING SPECIFICATION

LOADING INFORMATION					CONT.	PALLET LOADED (DIMENSION: 110 X 110 X 15 CM.)				SLIP SHEET LOADED (DIMENSION: 80 X120 CM.)				FLOOR LOADED	
PACKING SIZE CA			ARTON DIMENSION (CM)			Total Pallet	Carton/ pallet	Total Carton	Weight (kg.)	Total Slip Sheet	Carton/ Slip sheet	Total Carton	Weight (kg.)	Total Carton	Weight (kg.)
150ml	6 GBT	12.10	18.10	15.60	20ft									7,200	21,600
					40ft									8,568	25,704
200ml (PB Farm)	6 GBT	13.00	19.00	18.60	20ft	20	240	4,800	14,400	28	216	6,048	18,144	6,480	19,440
					40ft	36	240	8,640	25,920	40	216	8,640	25,920	8,600	25,800
	12 GBT	18.50	27.50	18.60	20ft	20	120	2,400	14,400	22	156	3,432	20,592	3,024	18,144
					40ft	36	120	4,320	25,920	27	156	4,212	25,272	4,300	25,800
200ml (Private	6 GBT	17.70	17.30	20.50	20ft	20	240	4,800	14,400	14	216 180	3,024 2,520	16,632	6,600	19,800
										22	37.5	-			
					40ft	36	240	8,640	25,920	21	216	-	25,596	8,600	25,800
Label)					20ft	20	120	2,400	14 400	28	180 3,780 120 3,360 20,16	20,160	3,380	20 200	
	12 GBT	17.70	22.70	20.50	40ft	2000	120	- CONTRACTOR	14,400	36	120	4,320			20,280
300ml		4			4011	36	120	4,320	25,920	14	144	2,016	25,920	4,300	25,800
	6 GBT	19.40	13.30	24.50	20ft	20 168 40 168	168	3,360	11,760	14		-	15.876	4,752	16,632
					40ft		6,720	23,520	50	180	7,200	25,200	7,425	25.988	
					20ft	20	104	2.080	400000000	28	72	10.000 (0.000)	100000000000000000000000000000000000000		
	12 GBT	18.60	24.80	24.50	40ft	38	104	3,952	13,520 25,688	54	72	2,016 3,888	13,104	4,000	26,000
600ml	6 GBT	16.10	23.90	31.00	4011	10	104	1,040	25,600	14	84	100000000000000000000000000000000000000	25,272	4,000	20,000
					20ft	10	78	780	13,650	14	63	1,176	2,352	17,640	
					40ft	18	104	1,872	(1) - 1/1 - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) - (1) -	14	63	3,402	25,515	3,430	25,725
						18	78	1,404		54					
						10	64	640		14	40	560	14.210	1,260	18,270
	12 GBT	23.30	31.00	31.00	20ft	10	48	480	16,240	14	30	420			
						16	64	1,024		26 40 1,040					
					40ft	16	48	768	25,984 25	- 1	30	750	25,955	1,750	25,375
1L	6 PET	16.20	25.20	29.20		10	40	700		14	84	1,176	16,464 2		
					20ft	20	72	1,440	11,520	14	63	882		2,576	20,608
					40ft	40	72	2,880	23,040	50	63	3,150	25,200	3,240	25,920
	12 PET	25.70	33.30	29.20	20ft	20	36	720	10,800	28	36	1,008	15,120	1,715	25,725
					40ft	40	36	1,440	21,600	48	36	1,728	25,920	1,722	25,830
10L	2 PET	21.00	41.50	44.00	20ft	20	20	400	10,000	14	18	252	10,500 770	770	19,250
					2011	20	20			14	12	168		19,250	
					40ft	40	20	800	20,000	28	18	504 21,000	1,040	26,000	
					4011		20			28	12	336			
18L 200L	1 TIN	24.00	24.00	35.00	20ft	20	48	960	24,000	22	45	990	24,750	648	16,200
					40ft	21	48	1,008	25,200	23	45	1,035	25,875	1,038	25,950
					20ft	20	4	80	19,200					80 19,20	
					40ft	26	4	104	24,960					104	24,960
1000L	1 TANK				20ft	18	1	18	23,400					18	23,400
					40ft	20	1	20 26,000						20	26,000
200gm	6 JAR	14.70	22.50	10.50	20ft	10	256	2,560	12.512	28	250	7,000	16,100	8,580	19,734
						10	288	2,880							
					40ft	20	256	5,120	25,024	45	250	11,250	25,875	11,200	25,760
						20	288	5,760							
250gm	6 JAR	14.90	22.10	12.50	20ft	10	256	2,560	13,920	28	225	6,300	14,490	7,020	20,358
						10	224	2,240							
					40ft -	19	256	4,864	25,798	50	225	11,250	25,875	8,964	25,996
						18	224	4,032			220	11,200	20,073		20,000





Think of ORGANIC Think of





Northern Food Complex Co., Ltd. also do PRIVATE LABEL products for many global brands and companies.

We are here to discuss more details with you. Just let us know your requirements and specifications, so we can prepare samples and our offer accordingly.



CONTACT PERSONS

EXPORT SALES:

MR. NATHAKORN PORNPITAKPAN SALE-EXPORT1@NORTHERNFOODCOMPLEX.COM



+66 89 676 4335

EXPORT SALES MANAGER:

MS, SUPANEE TEERAWARAPORN SALE-EXPORT@NORTHERNFOODCOMPLEX,COM



+66 87 513 5445



OFFICE ADDRESS:

59/3 , SOI SUKHUMVIT 39, SUKHUMVIT ROAD, KLONGTON NUA, WATTANA, BANGKOK 10110 THAILAND

TEL: +662-262-0030 -3 FAX: +662-262-0029

FACTORY ADDRESS:

99/3 CHIANGRAI-DONGMADA ROAD, MAEKORN, MUANG, CHIANG-RAI 57000 THAILAND

TEL: +6653-673-985-6 FAX: +6653-726-998